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Instructions :

The figures in the margin indicate full marks.
Answer eight

Section—I and Section—II and two from Section—III.
Candidates are required to give their answers in their
Oown words as far as practicable.

All questions have been printed both in Hindi and
English. In case of any ambiguity in Hindi version,
the English version shall be considered authentic.
Parts of the same question must be answered together

and must not be interposed between answers to other
questions.
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questions, selecting three each from
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SECTION—I
- @uE—]

1. Cr'it‘icallj,.r examine the evolution of Indian
- nationalism. since the late 19th century,

1941 @ éaaﬁuﬁ,ﬁmﬁﬂaw%ﬁmﬂaﬁ
ereATS Feften Hif

38

Q2/“Chr:unpara.n Satyagraha is a watershed in
the freedom struggle.” Elucidate. 38
“TE A e S s R dig o
oy Hifv)

3. What were the reasons behind overseas
immigration in the 19th century British
India? Discuss in the light of the indenture
system with special reference to Bihar. = 38

19t wd % ffveetn WE # Tz ol T %
F AT A7 fogr & oW wef 4 e g
e # R SR

/4/ Examine the characteristics of tribal protest
+in the 19th century with suitable examples.
Give reasons for their failure. , 38

39T IR Higd 1991 ¥ # Semdw whdw 6
foRiwanat i wten AR T srawear ¥ S
LI -
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5. Discuss the features of Mauryan art and
architecture and its relationship Wi
Buddhism. Byy FelattonERe 38

Fell a1 V- s < fdwas #
$ifte o g o F Wy gy gey W TR

grfeid|
6. Write short notes on any wo of the
following : 19x2=38

(a) Working Class and National Movement

(b) Impact of census of 1881 on caste and
religious identities :

(c) Nehru and secularism
Prafafas § @ fed @ W diEW froafirat ffag -
() wigy @t IR T SR

(@) fa 3t of & S vg= W 1881 I oM
1 T | '

(M) 8w IR aH-TRdeEr
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SEcTION—II
Qug—II

the major focus of UNDP Human
nt Report, 2019? In what way

analysis go beyond income,
d present condition? Critically

What 18
Developme
does the
gverages an
examine.

RGN Saeie ad, 2019 &1 yq@ faw
71 27 foreru fohE W 3, 3ftaa 3 adar ek

3 3 S ST 37 eI Grien Hifel

38

etween Afghanistan and India with the
launching of New Export Route to and from
India through Chabahar Port. 38

STE SEUTE A B IR W % 79 - an
¥ wired § TR R WRd % si" SUR
Sreame S @rrETal B faaeer Hifdg

_8./?501158 the prospects of trade promotion

9. Critically examine the key variables that

support . well-being as per the United
Nations Sustainable Development Solutions

Network. 38
e TP R e GOME e % SRR
gEeiial % Fuefd TIE GEH i wfiEneh e
Sifsr - |
\/K./ Why does India has an open-door policy
with Nepal and Bhutan as regards free
movement of people between the two
nations? Explain. 38
FD/CC/M-2019-02/71 S ( Continued )
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\wmcuss the UAE ] anItatmn for India as a
Guest of Honour to attend the OIC Foreign

- Ministers Meet as a signal change in

geopolitical dynamics.

e § widhe ofed F w9 A
.. F ey afEEt oo # v A % o
mmaﬁaﬁr&:ﬁ%ﬂ%mﬁqqé & Fm=m &

fa=m il

SECTION—III
wue—III

12. The following chart
of overseas tourists
countries and also
tourists from India

38

s depict the distribution
from India to various
the age distribution of
during the year 2017 :

Tourists from India

..............

#| European
Union
20%

iy

D e

Age Group of Tourists

.....

.....

.....

—
155 —
§

—]

..... —

HITTTTHTTTIT

0 Tess 30-39 40-49 50-59 More

i JGLg_\"-‘(.‘rrou;j;

than
60

~ FD/CC/M-2019-02/71

e’ '. AT . it o et 1 . : e -_’_.'.‘__-:_-._: ..

~ (Tum Over)

Scanned by CamScanner



(6)

(@) If amongst the

Switzerland accoyunts for 25% of i

i \CCo touristg
trai:ﬁc and it ig known from Ofﬁcial
Swiss records that g total of 4 lakh
visited Switzerland
017, then how many

ndian tourists in the
age group of 40-49 years went abroad

from India during the year 2017?

European Union,

(b) If the total Number of tourists of age
group 30-49 is 2400000, what is the

number of tourists who are more than
60 years of age?

(c) If total number of Indian tourists who
went to China more than 40 years of
age, was 360000 constituted 30% of
total tourists to China, then how many

tourists of other age groups went to
China? '

(d) Assuming that the total number of
tourists from India going abroad
increased by 20% in the year 2018,
what will be the total number of tourists
in age group less than 30 in the year
2018?

-(e) If per capita spending per day of
tourists in UK is ¥ 6,000 and that in
USA is ¥ 5,000 and it is known that
3200000 tourists visited these two

countries, what was the total spending ;
of the tourists in these countries? 3
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(%) af qfia d F o, fgwds 3 25%
whed amt 3 iR anfete f&m fere 8 T
2 f5 ad 2017 ¥ a0 4 @@ ARAE THH
fereodis T &, @ @ 2017 § WRT ¥ 40-
49 amga % wdewl it wem fhad ofi?

(@) A 30—493:@31’?%%@%#@?
2400000 2, @ 60 aﬂﬁ-;ﬁﬁm wgéstrefaﬁ

£ ge et 87

(M) afe 360000 YRR T, ﬁﬂeﬁr AY 40 ¢
¥ aftp oft, S F FA TR B 30% U, @A
‘= ot ¥ fea wew dH R A7

(@) T R fr v @ FRw T A e A
- wen =¥ 2018 # 20% W 9 8, @ 30 T§
A %A Y % ekl A G 2018 F @y gyt
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7 6,000 § 3 wgw T=a wfeR ¥ 5,000
3 ot 9@ 8 1% F& 3200000 Wew 3 i
i % R WY@ WA vt
e Fre @ a7 '

13. The following multiple bar chart shows
production of same type of vehicle (in
thousands) for a period of three years by
selected manufacturers and the line chart
shows prices of vehicles in the year 2017 :

Production (in thousands)
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(a) What i? the 'I:'Je'rcent increase in  the
production of vehijolas i, 2017 from
2015? sein. 207

(b) Which manufacturerg pave produced
the same number of yepicles during the
period under consideration? _

(c) What percent of the tgtal production of
vehicles is produced by manucacturers

A and D?

For which manufacturer, the profit
percent is maximum in the year 20177

(@)

If the manufacturer D had to call back
cts,

e
(e 4000 of its vehicles due to some defeth
e

what is percent profit/loss ©O
company? | i 36
b - e b Pl g0 et @
ot 3 AT (29T §) F1 Ieed e ad A g P
o zatar 2 3 @i A % e H A% 2017
> emarg:
IaeA (89 H)
25
,EAQ'O" § 2015
T 15—l 3
%E = HI—g= B 2016
"Eum = e
= N —H [ 2017
]| —— N
0-"A . B. .C . 'Dy -E
JACH
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(@) f Sares! 3, femgds ety § At 6 s
g Jaried i 27

(1) 1 IR 1 v AT I A IR D F
2T IcTe fepa Smar 27 |

(g) af 2017 § FRE IcaTeeh I AT e JAferhdd

] _
’ (%) af: Tenge D 1 FT A % FWT 4000 E
il R aw e vl &, @ e w e/
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| 14. The following graph sho

of three countries 4 °,the populations

2012-17 : during the years
75
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2012 2013 2014 2015 2016 2017

(a) What percent of total population is
accounted by the countryAm the year
20177 b - '

(b) If the sex ratios of countries B and Cin
the year 2016 were 1065 and 1052,
what is the number of females in these

countries?

(c) If ':che number of females in the country
A in the year 2014 is 21-25 crores, what
‘is the _§ex"'ratio of country A in the year
20179 .1, -

FD/CC/M-2019-02/71 (Tumn Over)

™y e

” Scanned by CamScanner



‘FD/CC'/M-zq;g'_ozm b% | {Continued-f}.i

(12)

ear recorded the maximum

ich ¥ ' e
-{'d) grrg\lvth of population 11 three countries
PR
() Which year recorded. ";c)he minimu i
growth of the population:
frer Yaim @ 2012-17 ¥ A d A
e —=———————
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m) aR 3w A H R A den ad 2014 # 2125
' Fg oft, A T 2017 # 3y 4 # Remrura ReeT

q17?

(@) o ad F A i wen 6 st 9%
Tl TR?

(8) frm ad & Sden # =maw gfy o A e
15. The graph below gives exports (¥ in

thousand crore) from three companies X, Y
and Z over three years. Study the line graph

and answer the questions given below : 36
Exports (¥ in ‘000 crore)
160
140 >—
120 = = ="
100 — T
“E \‘ _.-'J '\._" _,I'I 7 =
80 —¥—=- .," f“i@—““'—'
== S “
60 —* ,(ljkifi’/ + =2 — —#—Company X
. 40 —y— — —&—Company Y
20 — _ --#&—Company Z

0
2011 2012 2013 2014 2015 2016 2017

(a} Average annual exports for companies X
and Y, respectively are approximately
what percent of the average annual
exports of company Z during the given
period?

FD/CC/M—2019—02/71 e ( Turn Qver )
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(b)

A e

what is the difference between the

maximum and the minimum average

annual export over the years?

(c)

In which years, the average annual

-exports of the companies were same?

In which years,

(d)

the exports from

company Z were more than the average
annual exports of all the companies?

What is the percent increase in the total

export of all the companies during the
years 2015-2017 in comparison to the

years 201 1—20_14?

- 36

H2 fear mn Wt fiw sl X, vk z @ @
sl & Fafd kg (T g1 HUs #) quiar 31 Wart

w1 FegEd Hifve R AR R W™ ww
g -

fata (F '000 FT #)
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